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Graphing Square and Cubed Root Functions

Date: Class:
State the first 7 perfect square numbers? State the first 5 perfect cube nulhberﬁ?
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If we had to Tirake-atable for  vx — 1  what would be some good numbers to choose to put

in for the x-ferm , and why? Wk ~some-numbers that won’t work, and why?

Graph the following square root function y=vx+3 ( et 3

*If you can remember the translation(s), parent function, and domain of the function...choosing
the corrrect number to start with in the table will save you time,

Parent function/ Table Graph of the function
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Graph the following square root function:  y= \/@@ wp &

: . ioghdt & : :
*If you can remember the translation(s), parent function, and d(‘)lglél_ﬁ of the function...choosing
the corrrect number to start with in the table will save you time.

Parent funciio Graph of the function
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Here's an example of a cube-root function: | There are no domain constraints with a cube root, because you can
34 graph the cube root of a negative number. So you don't have to find
o  Graphy = Jx = 3 the domain; the domain is "all x". (Note: Since you can take the fifth
root, seventh root, ninth root, etc., of negative numbers, there are
no domain considerations for any edd-index radical function.

Graph each cubed root function:
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y = **hint:(Where should the curve take place?)**
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y = ./x{— 3 **hint:(Where should the curve take place?)**
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Review:
State the translation of each square root function and a number to choose for the x-term in the table.
Ly=+x+7+8 2) y=4x—5+2 3) y=+x—3 4) y=4x+1-5
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Homework

fo)=V3x—12

T ar v
6. y?Vg:‘S\

Eind the domain of each function
2.

Describe how to translate the graph of y =V¥ (o obtain the graph of each function

2. y=Vx+20 27. y=Vyx ~4 -7
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20, y =Vx - 8
down 8 left 20
Make a table of values and graph each function.
28, y=+vx—-2+3 29. y=+x+5 30. —“—\/ + 4+ 1
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Homework {extra)

1.) Predict what would happen if there was a negative number on the outside of the radical;

y=-x+2-3
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Then graph and restate your prediction of a negative number outside.

H—~ wWon (p(

3

fep fl

7‘9@/[\

i P;(N &U’/\

¥

2.) Predict what would happen if there was a number in front of the radical that was larger or smaller than
the “assumed number of one”.

y=5Jx+ 2@ 9‘.0"» l’( Then graph and restate your prediction of a number outside the radical.
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Use what you have learned fo state what the translation is of the parent function.

3)y=-vVx—-8+49 4) y=3VX+3 +45 .
rqht §  «p 4 ere 3 o 15
5)y=-4yx—5—18 6) y=2vx—3+5

7.) If there is a negative sign on the inside of the radical (in front of the x-term), it changes the function in
a different way. Use a graphing calculator or graph using a table and discuss why the function starts
where it does, does it follow the same “shortcut pattern™ for finding the starting point as we used before,
and why you think it curves in that direction:
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